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Problem 1. Determine the reactions at the pins 4 and B. The spring has an unstretched length
of 80 mm.

(1) (10%) Draw the free body diagram of the member ABC;

(2) (20%) Write the equations of equilibrium;

(3) (20%) Calculate the reaction forces at the pins 4 and 5.
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Problem 2. Draw the shear and moment diagrams for the beam.

(1) (10%) Draw the free body diagram of the beam and find the reactions at the pin 4;
(2) (20%) Write the shear and moment functions;

(3) (20%) Draw the shear and moment diagrams.
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